éxt‘?? 2622

l (v —4 = 4(50311-55:"7".)
Z= Flees B+ ¢5im B) ¥ Hrcx

24 = —4 I3 t% (o540 +:5u4B) =4 (Cs s Cstnt) T a1,

LY T30m r=T3 ., 48=m+ 2an (nig BEIZ) o= 2
- - ? 'Y_. £ ‘T._. Ny —_—
Z= J—Z(COS% +Cr.:\-%' ), E[cos%'ft*t;‘m 471),3—2-( us;fu Lﬁhi:TL),JZ(us;r\+ Ls.ngr\.)

- "~ -
= [ev, =ltv, =l=v, |-

ta) lw+iw|2+ld—iwlz

.-‘-J N
LY RN
= (ot tw N -Cw)+ (o -tw )ol+ln)
= ol — ¢ w+m+w:u+w?+fy{~£%+mz—a
by 2l°‘[+2]mla'—' SRR R ”I’“; S B
5y t2e ovz2Fis o e = x
Flﬂq?l\}‘ 't'l- = ‘Cﬁ;{.&|\njg ]‘1"': —.l—; i - I
UEh% 2 [ Ees 3‘%5% P [« % dxTe tmﬁﬁéﬁfa

ot 85 IS, -0 v o 8F%)s FrotEutrral

-t MASH I B ek 1

2 o 2 2 2 2 2 el 2
R e\ (t41) +4 2F , (t-1)+¢ 5

i/

& 24t 4 e ot PO S S L XT ek

& PR L
t<oov et MA  @fHIAS -4<t -2

S - 4<te-2 3Rz 2€t <4



S¥ R([oj;‘)z - ](D-) e iq Jfr[:‘\) = 2&1539{ x 'jtl‘ = HZRL;LDL

Cp. RClogp™) 1ntir 33E B3,
Y = EEPBLJL- Rlgp(2-lyp)

'b = L [[:,SP (x- p) + E([u;f‘)‘,

tzy AR (e i%f—hl...tlt &3

§e= "ﬁ[a;]’(2-—[uaf)

loasP = X v &9 ¢
ftxz—zlix—‘ge;o o

RYo Bp s .0 X imXieruzey 222445 2.

P = E'+§€R=ﬁ(&+ge)>o (v k>0)

En 1512 D v a3y

‘I

HT O Iz g;faj lvmk‘iﬁﬁ%t-’t 5 laa X 170, rfr-—ff,m}’i 3 3HT" A’Eiﬁlﬂé:ﬁh
24 3293 eplyps.
(CD) Cbm?ﬁﬁ'&a).ﬁt?}‘c ol+(3=2, o;p--%
1t Hdp.pre v‘.["tlﬂnz eV Frw ef rdeza
200t 0B e %L , ,z;L;L ehE
\ E
qgﬁlﬁ@??SmT' Zif f.E‘F——-—
4%° o L 1ol
LS T @M / o ol
{ox® @iz ip%- d-,*-*)ﬂ/ X-2x-2=0 & x=-1.3 (=ag)

L ¢!, ;-e’

4) E —J-T; vo A S k] -‘-3[-17\)0) 17“57‘\#a_ﬁ5(3

Eaks1263

e
J; %L[uj’l)zcl:l ='§ b I»(_
e

JQ»,A)Lda = x([.,a)z— j/(ﬂZl.ij-%\h

= ye_[[,j>LJ2—2 2lgr v 22 + ¢ =B S (oo B5E)

e 2
27?[1“'9’1)—2k lax + ax ]

]
&
Q 3 3 2 e I 2 o
=hE= gt = ST e R
-;_rg(tse‘f e*342cJ ZJE(+E+e*e



LRI s BHAT Ho e R a b e
'I'>=f>~4; 20 ... Q
g B o K& &
=P oz{z=7, - ®
D!8+[32—df=3 X
fot+(s)l—3nf(3=3
@ o 1B ERH

i Y S R
L= o f - o 2 _ I3
piz[;?-i- o % (3‘—1- | (df)z+ (o(-q-(ﬁ)?— 2o(r+l ?2+ ra—z;—rl
Str® ¥y pi=3g+3 BRI
3
T el A

3. o ® 9, S’z+3~43’_20 =) 9 £3

= ]’2= 3+32 2o ¥V 12‘[ Framde 1§43

@i sat Jowe b Ce

r & S T
‘E’”-): 254744 ~ g(zh:} N (24 2)0G-1) o l n j‘ = =
(g7« 1+4) (4%9+4) —

Jip P

}f(“_) =0 cf3Tala R I B {(z)mf;ﬂiﬂl?éﬂ\c%‘)

|
f(-l)=—3 . Sty = =-; ;[33::._.

16

a

trs Sy e e BRR L. v i -1 e

f=2aY? ]”"_'3 oy z 2R3F/R 13 AT tan+2=0 KPS (""(‘).;("2)'(_2'"[)
'T}_:-l " rr.o =z )Lz"l='° F"’ﬁg (‘A(’)‘: ("[r]J

Etfds

T (g2 pers) zove (0p)=002) 3% (2, )
f’t[\“lﬂ-;“ (9=-1.pea) Lo (al(S)l—a (=1.1)



LR P
0 3ed s melinen) aedioh g .

[2=2:3 EF3 A,,=f1.2,3,4, AREN

7
| [
S'”_-:T“-[-‘Ei',f' ‘%r+"l?;_f'2¢"'/;z ([1——1'4‘)( .'l__).': 'ZT/I{

@ w0z P (1ro2..R) thth3az Ao Thasmfiis e

oo Bhie Fot (o2bef osn'en) chex
tovt P9 m wa BB ERS
n = (f?"f’) X

FREIRE MR L - Fﬁ‘b’l EAS m = YP-E%J-
L3 Coltiz m hv Ahn‘-z’%z"z\z:taﬁ\ttuzh‘i
?ﬁc'ﬂlit‘&%i’a"c. FR‘}J ﬂ“Anm%'Lo?%E y3v 3 ,'f:[’[\i,.g'; maoBdt gk At -2733.

(0 ¢R-B'€R, o £0-27¢8)
FQ’?A"” @17“54:4\17‘ manSEE

Wrn 585y 5. 13

7§ IR F"“E' HI) C (T .n.;
3 l'i?l‘(?r‘;l))=f§(i§t(72 =Fn’§| EZ-,'(F : j
{ ]

(F’_l)(?_.“l) (\_ ,“:2)([_ %—2) 7

STTp<qYLTE- IR T L v A A v s Kacs3 e b8

Exie pe2.§ =3 clhri, kL2 A1
\ 1 i
—3

=

‘ <
(- Sa0- i 3 (- 3

i
2

0|

®

HT1T ;= [:a TEI’-.') w1 Sn —-i h° Y £33 Jﬂeﬁfg



